ITEM	DESCRIPTION	ADD QTY	UNITS	UNIT (\$)	TOTAL (\$)
416 2029	DRILL SHAFT (RDWY ILLUM POLE)	48.00	EA	\$111.30	\$5,342.40
610 2064	RELOCATE RD ILL ASM (TRANS BASE)	6.00	EA	\$1,113.00	\$6,678.00
618 2018	CONDT (PVC) (SCHE 40) (2")	1,000.00	4	\$5.00	\$5,000.00
618 2019	CONDT (PVC) (SCHE 40) (2") (BORE)	330.00	ㅂ	\$19.00	\$6,270.00
620 2011	ELECTRICAL CONDUCTOR (#8) BARE	1,330.00	<u></u>	\$1.00	\$1,330.00
620 2012	ELECTRICAL CONDUCTOR (#8) INSULATED	2,660.00	ij	\$2.00	\$5,320.00
624 2008	GROUND BOX TY A W/ APRON	5.00	EA	\$600.00	\$3,000.00
FORCE ACCT	REMOVE EXISTING POLES FA	1.00	S	\$1,325.45	\$1,325.45
	TOTAL				\$34,265.85

PRICE DOES NOT INCLUDE TRAFFIC CONTROL PLEASE SEE ATTACHED FOR COST DETAILS AND INFORMATION



PO. Box 760 Cedar Park, Texas 78630-0760

(312) 258-1025 Fax (612) 258-1026

3/22/2011

Control No:

10151-04-063

Project:

PTF 2009 (886)

County:

Williamson

Highway:

JUS 183

We at G. Carter Construction Company, Inc. are pleased to quote the bid items below on the above referenced project:

5	620 2011 620 2012	ELECTRIAL CONDUCTOR (#8) BARE ELECTRIAL CONDUCTOR (#8) INSULATED	1,330.0 2,660.0	LF LF	\$	0.95 1.10	\$	1,263.50 2,926.00
4	618 2019	CONDT (PVC) (SCH 40) (2") (BORE)	1 330.0	LF LF	\$	18.25 0.95		6,022.50 1.263.50
3	618 2018	CONDT (PVC) (SCH 40) (2")	1,000.0	LF	\$	4.75	\$	4,750.00
2	610-2064	RELOCATE RD IL ASM (TRANS-BASE)	6	EA	\$	1,050.00	\$	6,300.00
1	416-2029	DRILL SHAFT (RDWY ILLUM POLE) (30 IN)	48	EA	\$	105.00	\$	5,040.00
<u>item No.</u>	Bid Item	<u>Description</u>	<u>Qty</u>	<u>Unit</u>	L	Init Price	<u>1</u>	Extension

^{*}Items 3 - 7 are already set up as bid items in existing contract and can be over-ran at same prices.

These prices do not include any Bond, Traffic Control or Engineering. If Bond is required, the General Contractor will add 3 1/2% to the Bid. These prices are contingent on being awarded all items bid.

G. Carter Construction Company, Inc. is a State Certified WBE and HUB.

Bid is based on using the stored poles and T-Bases.

If additional information is needed, please contact me at (512) 258-1025.

Sincerely,

Pete Smith Vice President From: pete@gcarterconstruction.com <pete@gcarterconstruction.com>

To: George Mayfield (Dan Williams) < gmayfield@danwilliamscompany.com>

Date: Tuesday, March 22, 2011 10:38 am

Subject: Illum Change order

Attachments: DOC032211-001.pdf (53KB)

George-

All but 2 of the bid items are already in the contract. I just transfered the unit price numbers as such.

Our boring contractor will be in the area the second week in April and could take care of the bores then Carried States Company of the Compan

if approved.

Thanks,

Pete

Pete Smith

Vice President

G Carter Construction Co, Inc.

Cell: 512-431-7249



DAILY REPORT OF FORCE ACCOUNT WORK

ON CHANGE ORDER NO.

[G.	CARTER	î
1		7

County: Williamson		Project	US 183 I	Riva Ridge CSJ:	0151-04	-064	High	ıway: <u>US</u>	183
Date: 12/16/10		Station:			to S	Station:			
		STA	TEMENT O	OF EQUIPMENT AND	LABOR		.	· · · · · · · · · · · · · · · · · · ·	
EQUIF	MENT					LABO	R		
Description	Hrs.	Rate	Amount	Classification and Name	Но	urs	Ra	le	Amount
2006 Chevy Crew Cab 2500 4 x 4	4	25.88	103.52	John White - Foreman	Reg. 4.00	О.Т.	Reg. 32.20	O.T.	128.80
2007 Ford F250 Crew Cab 4 x 4	4	25.87	103.48	Mike Brown - Skilled Labor	4.00		22.74		90.96
2008 Ford Hydraulic Boom Truck Terex-RO 38,000 L	4	104.85	419.40	Matt Baker - Skilled Labor	4.00		18.68		74.72
		Total	626.40		1		1	Total	294.48
ISP W/ Comply	= 7	20.36	·	(_ <u>/</u> _ /	BOR (3.2 f (Cennytz	1,80 ×	530.0
STAT	<u> TEMEN</u>			LS ACTUALLY	PLACE	D THI	-		
* D	. 1382.3	Descr			1 (1 7 1 1		Unit		Quantity
* Remove Illumination Poles a	na vviring	05 1833	South Boun	o, South of the San G	abriei Brid	ge.			
G Carter Con	struction	Co., Inc	· .				, , , , , , , , , , , , , , , , , , ,		
Co	ntractor		***************************************			Ins	spector		
ру	Vic	e Presid	ent						
Signa	ature and	Title				Area	Engineer		
SUB TOTAL		AND THE PARTY OF T		325.45/					



ON CHANGE ORDER NO.

County: Williamson		_ Projec	t: <u>US 183</u>	Riva Ridge CSJ:	0151-04-	064	Hig	hway: <u>US</u>	183
Date: 12/16/10 Station:				to S	tation:		······································		
		STA	ATEMENT	OF EQUIPMENT AND	LABOR				
EQUIP	MENT					LABO	R		
Description	Hrs.	Rate	Amount	Classification and Name	Hou	иs	Ra	ite	Amount
					Reg.	O.T.	Reg.	О.Т.	
				John White - Foreman	4.00		32.20		128.80
				Mike Brown - Skilled Labor	4.00		22.74		90.96
				Matt Baker - Skilled Labor	4.00	****	18.68		74.72
2006 Chevy Crew Cab 2500 4 x 4	4	?							
2007 Ford F250 Crew Cab 4 x 4	4	?							
2008 Ford Hydraulic Boom Truck Terex-RO 38,000 LB	4	?							
<u>'</u>		Total						Total	294.48
							10 DAT		
STA	TEMEN			ALS ACTUALLY	PLACE	ED IH	Unit	E	Quantity
* Remove Illumination Poles a	and Mirino		South Bou	ind South of the San G	Sahriel Brid	ine			- Country
Mentove Indiamation Foles a	and wanting	00 100	Count Boo	ind, codin of the carre	out of Direct	.90	<u></u>		
									······································
				·, · · · · · · · · · · · · · · · · · ·					<u></u>
File huix	Ph	Jun J							
by Vice Pre	ontractor side	Ť.	,			In	spector		

Signature and Title

Area Engineer



www.equipmentwatch.com

Rental Rate Blue Book®

February 24, 2011

On-Highway Light Duty Trucks Miscellaneous Models

Size Class: 300 HP & Over

Configuration for On-Highway Light Duty Trucks

Power Mode

Gasoline

Cab Type

Crew

Axle Configuration

4X4

Ton Rating

1 1/2

Horsepower

300.0

Blue Book Rates

^{**} FHWA Rate is equal to the monthly ownership cost divided by 176 plus the hourly estimated operating cost.

	Ownership Costs				Estimated Operating Costs	FHWA Rate**
	Monthly	Weekly	Daily	Hourly	Hourly	Hourly
Published Rates	\$1,080.00	\$300.00	\$75.00	\$11.00	\$20.45	\$26.59
Adjustments						
Region (Texas: 91.4%)	(\$92.88)	(\$25.80)	(\$6.45)	(\$0.95)		
Model Year (2007: 96.7%)	(\$32.57)	(\$9.05)	(\$2.26)	(\$0.33)		
Ownership (100%)	•	-	-	-		
Operating (100%)					-	
Total:	\$954.55	\$265.15	\$66.29	\$9.72	\$20.45	\$25.87

Rate Element Allocation

Element	Percentage	Value
Depreciation (ownership)	57%	\$615.60 / mo
Overhaul (ownership)	26%	\$280.80 / mo
CFC (ownership)	7%	\$75.60 / mo
Indirect (ownership)	10%	\$108.00 / mo
Fuel (operating) @ \$2.85	79%	\$16.24 / hr

Revised Date: 2nd Half 2010



www.equipmentwatch.com

Rental Rate Blue Book®

February 24, 2011

On-Highway Light Duty Trucks Miscellaneous Models

Size Class: 300 HP & Over

Configuration for On-Highway Light Duty Trucks

Power Mode Axle Configuration Gasoline

Cab Type Ton Rating Crew 1 1/2

Horsepower

4X4 300.0

Blue Book Rates

** FHWA Rate is equal to the monthly ownership cost divided by 176 plus the hourly estimated operating cost.

	Ownership Costs				Estimated Operating Costs	FHWA Rate**
	Monthly	Weekly	Daily	Hourly	Hourly	Hourly
Published Rates	\$1,080.00	\$300.00	\$75.00	\$11.00	\$20.45	\$26.59
Adjustments						
Region (Texas: 91.4%)	(\$92.88)	(\$25.80)	(\$6.45)	(\$0.95)		
Model Year (2006: 96.8%)	(\$31.59)	(\$8.77)	(\$2.19)	(\$0.32)		
Ownership (100%)	-	-	-	•		
Operating (100%)					-	
Total:	\$955.53	\$265.43	\$66.36	\$9.73	\$20.45	\$25.88

Rate Element Allocation

Element	Percentage	Value
Depreciation (ownership)	57%	\$615.60 / mo
Overhaul (ownership)	26%	\$280.80 / mo
CFC (ownership)	7%	\$75.60 / mo
Indirect (ownership)	10%	\$108.00 / mo
Fuel (operating) @ \$2.85	79%	\$16.24 / hr

Revised Date: 2nd Half 2010



www.equipmentwatch.com

Rental Rate Blue Book®

February 24, 2011

Terex RT 555-1

Rough Terrain Hydraulic Cranes

Size Class:

Max. Lift Capacity: 50.0 - 65.9 MTons

Weight:

79,451 lbs.

Configuration for RT 555-1

Power Mode

Diesel

Axle Configuration

4 X 4 X 4

Maximum Boom Length

110.0 ft

Maximum Lift Capacity

50.00 MT

Net Horsepower

185.0

Manufacturer Notes: Refer to LORAIN and P & H for other models.

Blue Book Rates

** FHWA Rate is equal to the monthly ownership cost divided by 176 plus the hourly estimated operating cost.

		Ownersh	Estimated Operating Costs	FHWA Rate**		
	Monthly	Weekly	Daily	Hourly	Hourly	Hourly
Published Rates	\$9,075.00	\$2,540.00	\$635.00	\$95.00	\$57.95	\$109.51
Adjustments						
Region (Texas: 91.6%)	(\$762.30)	(\$213.36)	(\$53.34)	(\$7.98)		
Model Year (2008: 99.3%)	(\$58.19)	(\$16.29)	(\$4.07)	(\$0.61)		
Ownership (100%)		••	-	-		
Operating (100%)					-	
Total:	\$8,254.51	\$2,310.35	\$577.59	\$86.41	\$57.95	\$104.85

Rate Element Allocation

Element	Percentage	Value
Depreciation (ownership)	39%	\$3,539.25 / mo
Overhaul (ownership)	45%	\$4,083.75 / mo
CFC (ownership)	9%	\$816.75 / mo
Indirect (ownership)	7%	\$635.25 / mo
Fuel (operating) @ \$3.07	40%	\$23.29 / hr

Revised Date: 1st Half 2011